eduqas 2018 Online Exam Review

GCSE HISTORY COMPONENT 2 (STUDIES D)

All Candidates' performance across questions
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Question Title Mean Max Mark Attempt %
1 403 1.8 1 5 35 99.8
2 391 1.3 1.6 6 22.2 96.8
3 396 2.7 1.8 9 30.4 98
4 396 1.7 1.8 8 20.7 98
5 371 1.9 2.4 12 15.7 91.8
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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QUESTION 4
Explain why there was mass unemployment in the UK in the 1930s. [8]
................................................................................................................................................................................................................ 3
................................................................................................................................................................................................................ 5
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7
QUESTION 5
How important was increased consumerism and affluence in changing the lives of the people of the

UK in the 1960s? [12]

[In your answer you should discuss the importance of increased consumerism and affluence
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Question 5

Mark allocation: AO1 (a+h)

AO2

AO3 AO4

12

4

8

Question: How important was increased consumerism and
affluence in changing the lives of the people of the UK in
the 1960s? [12]
Band descriptors and mark allocations
AOl(atb) 4 marks AO2 8 marks

BAND 4 | Demonstrates accurate and | 4 Fully analyses and evaluates 7-8
detailed knowledge and the importance of the key
understanding of the key issue against other factors.
features in the question. There will be a reasoned and

well supported judgement set
within the appropriate
historical context.

BAND 3 | Demonstrates detailed 3 Analyses and evaluates 5-6
knowledge and the key issue against other
understanding of the key factors.
features in the question. There will be a clear attempt to

arrive at a judgement with
support.

BAND 2 | Demonstrates some 2 Begins to analyse and 3-4
knowledge and evaluate the key issue against
understanding of the key other factors. An unsupported
features in the question. judgement of the issue is

provided.

BAND 1 | Demonstrates limited 1 Limited attempt to analyse and | 1-2
knowledge and evaluate the key issue against
understanding of the key other factors.
features in the question.

Use 0 for incorrect or irrelevant answers.

Indicative

content

This content is not prescriptive and candidates are not expected to refer to all the material
identified below. Some of the issues to consider are:

e many people in the UK in the 1960s enjoyed a higher standard of living at a time when

incomes were rising faster than prices and people had far more disposable income;

¢ many were able to obtain mortgages and buy their own homes which were filled with

white goods;
e car ownership increased and the car became the ultimate symbol of affluence;
¢ the availability of credit schemes and catalogues created a huge demand for consumer

goods;

© WJEC CBAC Ltd.






o the effects of affluence impacted on women in terms of working outside the home which
made for a greater degree of equality to men;

e young people had more money and the freedom to spend it and the “teenager” became
a major segment of the consumer market;

o in order to fully analyse and explain the importance of affluence and consumerism
answers should also consider the importance of a range of other factors ;

e answers could explain the impact of other factors such as: changes in popular music and
culture, cinema, liberalism and permissiveness.

C100U40-1 Edugas GCSE History - Component 2 MS S18/DM
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7
QUESTION 5
How important was increased consumerism and affluence in changing the lives of the people of the

UK in the 1960s? [12]

[In your answer you should discuss the importance of increased consumerism and affluence
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Sticky Note

The candidate offers some knowledge and understanding of the issue (AO1) which gains Band 2 and 2 marks.  There is an attempt to analyse the main issue in the question with some consideration of other factors but not in sufficient depth which gained Band 2 and 4 marks. The response is rather disjointed and would benefit from more structuring.  7/12
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QUESTION 5

How important was increased consumerism and affluence in changing the lives of the people of the
UK in the 1960s? [12]

[In your answer you should discuss the importance of increased consumerism and affluence
alongside other factors in order to reach a judgement.]

© WJEC CBAC Ltd. (C100U40-1) Turn over.
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Answer all questions.

QUESTION 1

Describe the status of women in the UK in the 1920s.

aminer
only
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MARK SCHEME SUMMER 2018

Component 2: PERIOD STUDY

2D.The Development of the UK, 1919-1990.

Question 1
Mark aIIoce;tion: AO; (a) AO2 AO3 AO4
Question: Describe the status of women in the UK the 1920s. [5]
Band descriptors and mark allocations
AOl(a) 5 marks

BAND 3 | Demonstrates detailed and accurate knowledge of the issue set 4-5

within the appropriate historical context.
BAND 2 | Demonstrates some knowledge of the issue set. 2-3
BAND 1 | Demonstrates limited knowledge of the issue set. 1

Use 0 for incorrect or irrelevant answers.

Indicative content

This content is not prescriptive and candidates are not expected to refer to all the material

identified below. Some of the issues to consider are:

e the First World War had been a turning point in increasing work opportunities for women

but after the war many had to hand over jobs to de-mobbed soldiers;
o for many women life was tough and revolved around family and home;

e some, mostly middle class women, with a sense of confidence and independence

became “flappers™ and adopted new styles and fashions;

¢ the political status of women changed when the vote was extended to all women over

21;

e the Sex Disqualification Act of 1919 made it easier for women to attend university and

enter th

© WJEC CBAC Ltd.
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2

Answer all questions.

QUESTION 1

Describe the status of women in the UK in the 1920s.

®l

aminer
only




Sticky Note

Candidate offers a detailed and accurate focus on the status of women in the 1920s. The candidate could have offered more contextual knowledge but there is enough detail to gain Band 3 for AO1 and 4 marks.





Sticky Note

AO1 Demonstrates knowledge of changes in political status.



Sticky Note

AO1 Demonstrates knowledge of social change.



Sticky Note

AO1  Recognises that not all women experienced change.



Sticky Note

Identifies a factor making for change.
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Answer all questions.
QUESTION 1
Describe the status of women in the UK in the 1920s. [5]
5
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QUESTION 2

How far did the economic policies of Margaret Thatcher change the UK between 1979 and 19907
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Question 2

Mark allocation: AO1 (atb) AO2 AO3 AO4

6 2 4

Question: How far did the economic policies of Margaret Thatcher
change the UK between 1979 and 19907 [6]

Band descriptors and mark allocations

AOl(a+b) 2 marks AO2 4 marks

BAND 3 Fully analyses the nature | 3-4
and extent of change
while arriving at a well-
supported judgement on
the issue set within the
appropriate historical

context.
BAND 2 | Demonstrates 2 BAND 2 Begins to analyse the 2
detailed knowledge extent of change while
and understanding of arriving at a partial
the key features in judgement.
the question.
BAND 1 | Demonstrates some 1 BAND 1 Provides limited analysis |1
knowledge and of the extent of change.

understanding of the
key features in the
guestion.

Use 0 for incorrect or irrelevant answers.
Indicative content

This content is not prescriptive and candidates are not expected to refer to all the material
identified below. Some of the issues to consider are:

e Thatcher's promise to end the discontent that had caused difficulties in the 1970s during
the recession;

e the need to reduce inflation and the budget deficit, create more jobs and reduce the
power of the Trade Unions;
her policy of monetarism in order to control inflation and stimulate economic growth;

¢ the struggle with the mining industry over plans to close unprofitable pits leading to the
Miners™ Strike in 1984 and the victory over the unions;

e privitisation with examples, the need to reduce state interference in business and the
encouragement of private enterprise;

e increase in home ownership alongside the selling of council houses;

e the growth of the North/South divide.

© WJEC CBAC Ltd. 4











3

QUESTION 2

How far did the economic policies of Margaret Thatcher change the UK between 1979 and 19907

-8




Sticky Note

The candidate offers detailed knowledge and understanding of the issue and is awarded Band 2, 2 marks for AO1. For AO2 there is just enough analysis to access Band 3 and 3 marks. 5/6




Sticky Note

AO1  Identifies economic aim.



Sticky Note

AO1  Identifies the aim to close pits and hints at the impact (AO2).



Sticky Note

AO2 - The need is to focus on the  nature and extent of change and how it impacted on the country.
Reference to privatisation and the growth of the North/South divide would have helped.




























QUESTION 2

How far did the economic policies of Margaret Thatcher change the UK between 1979 and 19907

[6]
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QUESTION 3 only

The lives of people in the UK between 1945 and 1960 were influenced by developments such as:
* The establishment of the NHS

* Changes in education
* Increasing affluence

Arrange the developments in order of their significance in influencing the lives of the people of the
UK between 1945 and 1960. Explain your choices. 9]
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Question 3

Mark allocation:

AOL (a+h) AO2

AO3 AO4

9

3 6

Question:

The lives of people in the UK between 1945 and 1960

were influenced by developments such as:

e The establishment of the NHS

e Changes in education
e Increasing affluence

Arrange the developments in order of their significance
in influencing the lives of the people of the UK between
1945 and 1960. Explain your choices.

Band descriptors and mark allocations

[9]

AOl1(at+b) 3 marks AO2 6 marks

BAND 3 | Demonstrates detailed 3 Fully explains the significance | 5-6
knowledge and of the factors in the question.
understanding of the There will be a clear, well-
features mentioned. supported justification of the

relative significance of the
factors set within the
appropriate historical context.

BAND 2 | Demonstrates some 2 Begins to explain the 3-4
knowledge and significance of the factors in
understanding of the influencing lives. There will be
features mentioned. some justification of the

relative significance of the
factors.

BAND 1 | Demonstrates limited 1 Limited explanation of the 1-2
knowledge and significance of the factors in
understanding of the influencing lives. There will be
features mentioned. little attempt to justify the

relative significance of the
factors.

Use O for incorrect or irrelevant answers.

Indicative content

This content is not prescriptive and candidates are not expected to refer to all the material
identified below. Examiners should note that the order of significance suggested by
candidates will vary. Marks should be awarded for the quality of justification provided by
candidates. Some of the issues to consider are:

© WJEC CBAC Ltd.






o the establishment of the NHS was significant in changing the lives of people in many
ways: as part of the post-war Labour social reforms with the aim of providing better
health care for the nation; the vision of Aneurin Bevan to set up a free national health
system that would provide care from “the cradle to the grave’; the huge number of
people who took advantage of the system was a reflection on how medically neglected
Britain had been previously.

e changes in education were significant in changing the lives of people in many ways: The
Education Act of 1944 established free primary and secondary education and offered
every child diversity and equality in education; secondary education was made
compulsory up to the age of 15 and the number of pupils staying in education and
moving to further education increased; meals and milk were provided along with medical
services; the debate over the classification of children at the age of 11.

e increasing affluence was significant in changing the lives of people in many ways: the
early 1950s witnessed the end of rationing and austerity; US financial aid and an
increase in trade gave business a huge lift; fuller employment saw wages increase and
reduced hours led to more leisure time; tax cuts and the availability of credit gave people
more spending power with a rise in consumerism; how the "never had it so good™ theme
dominated the 1959 election.

© WJEC CBAC Ltd. 6










QUESTION 3 only

The lives of people in the UK between 1945 and 1960 were influenced by developments such as:
* The establishment of the NHS

* Changes in education
* Increasing affluence

Arrange the developments in order of their significance in influencing the lives of the people of the
UK between 1945 and 1960. Explain your choices. 9]
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Sticky Note

AO1   Offers detailed knowledge.



Sticky Note

AO1  Offers specifics.



Sticky Note

AO2  Significance implied.



Sticky Note

AO1  Offers context.
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Sticky Note

The candidate offered knowledge of the factors and gained Band 3 for AO1 and 3 marks. There is some attempt to justify the relative significance of the factors which just edges the response into Band 3 for AO2 and 5 marks.                                      8/9




Sticky Note

AO2 Considers the relative significance of the factors.




Sticky Note

AO2  Considers the nature and extent of change.



Sticky Note

AO2 Considers the relative significance of the factors.





























QUESTION 3

The lives of people in the UK between 1945 and 1960 were influenced by developments such as:
e The establishment of the NHS

* Changes in education
* Increasing affluence

Arrange the developments in order of their significance in influencing the lives of the people of the
UK between 1945 and 1960. Explain your choices. [9]

1st 2nd 3rd

© WJEC CBAC Ltd. (C100U40-1)
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Question 4

Mark allocation

: AO1 (ath)

AO2

AO3 AO4

8

3

5

Question:

Band descriptors and mark allocations

Explain why there was mass unemployment in the UK in

the 1930s.

[8]

AOl1(a+b) 3 marks AO2 5 marks

BAND 3 | Demonstrates detailed 3 Fully explains the issue with 4-5
knowledge and clear focus set within the
understanding of the key appropriate historical context.
features in the question.

BAND 2 | Demonstrates some 2 Partially explains the issue 2-3
knowledge and within the appropriate
understanding of the key historical context.
features in the question.

BAND 1 | Demonstrates limited 1 Limited explanation of the 1
knowledge and issue.
understanding of the key
features in the question.

Use 0 for incorrect or irrelevant answers.

Indicative

content

This content is not prescriptive and candidates are not expected to refer to all the material
identified below. Some of the issues to consider are:

e before the First World War Britain's prosperity had been dependent on the export of
heavy industrial goods such as coal, steel and ships contrasted to the post-war decline
and the end of the "Golden Age™;

e rising costs of production, out-moded methods of production and the failure to invest in
new technology contributed to the decline;

e the fall in demand for British goods and increased competition from abroad, particularly
the USA and Germany;

e Britain’s traditional markets were no longer prepared to buy British;

e the trigger of the Wall St. Crash and the withdrawal of financial aid led to a slump in UK
production;

e industries and businesses closed down resulting in mass unemployment;

¢ the creation of "black spots™ and “depressed areas’.

© WJEC CBAC Ltd.
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Examiner

QUESTION 4




Sticky Note

The candidate demonstrates detailed knowledge of the issue and so gains Band 3 and 3 marks for AO1. There is a sound attempt to explain the reasons for the collapse of the Soviet Union which puts it at Band 3 and 4 marks for AO2. 7/8                                                                          














